FHi i

VPLAZ 5
o S
A B
(D:T\ /T-\L_V.,
RPS
W ® FrEERFIt

1. TBTEF IR EV A MDA

® %Ga1 ] E
OR5! ONBHRS | | OEENRS | | OFEDR
VPLA 2 10 08

1: 100Z5 06: 1/8

VPLA: “fi[h@& — 06: 1/8
- . 10: — :

S 2: 20075 g 08 14

08: 1/4

3. 300&5l 10. 3/8

A~E=
ITWIHEERS: THE; #E042: PT1/489200R3 M ABFHE,.
IEffRRGaTIMEEE: VPLA21008

® Mg

TENR S (R 40umP_EERITE)

{E=TSN FIREHIN

EEOR HR=H5 HS=HS=PT1/4 | #S=H==PT1/4 #R=H5=PT3/8
=HFS=PT1/8 HS=PT1/8 HS=PT1/4 HS=PT1/4

EREER 10.2mm2 VPLA210-08: 17.0mm? VPLA310-10: 28.0mm?

G (Cv=0.6) (Cv=1.0) (Cv=1.65)

IEH [ East:]

b= 3] REE

FRAEDEE 0~1.0MPa(0~145psi)

REMES 1.5MPa(215psi)

TIERE -20~70°C

MR el=prd

DE1] BREBERNCVERKIENIREHIE T ESE.
DE2 ENEER, PERTRLL, EUGEBHAISO VG2 RMA M.

www.wodtop.com WOIDTOP 348



FH 1"

VPLAZR 5

'+

o mEK

#S. VPLA110-06 #S. VPLA210-08
07 T s 0.7 T
o -
. \\ . I —
04 ] .. 04 ]
03 R 03
02 ™ Moo, — \
; , —
Y ——— B N\
: \ \ s \
00 200 400 600 800 1000 1200 00 400 800 1200 1600 2000

#E: (LUmin)

81S: VPLA310-10

07
— ——7
& os L
= o5 S e
0.4 L -
.. \\
§ o
Iﬁfi 01 T \
B o ™ AR
0 400 800 1200 1600 2000 2400 2800 3200
FRE: (LU/min)

DE] BRPIVREENTHREML,

® NS N EBZTHMIT

1 ESLIRET

2 wE

> f 3 A

oy | | O
' : 5 OR/E
%%4‘ 9 R

CD il - 10 NAIRE
‘ 11 L&

(4) 12 | BEES

13 S

349 WonToP www.wodtop.com



FHi "

VPLAZR !

® SMIZRY

oD
— |
s
& E g
o &5 &
A < )
e © ey
- < S - - @/QB
< o ! T
- X A rﬁ é
28| e |4
o 8] | el g @
=l 1 X :,U ‘E’ 551! _ 1
_|lpB = LB
KC B
c

A 898 106 106 121.5 121.5
AB 58.8 65.8 65.8 81 81
AC 10 10 10 10 10
B 18 22 22 27 27
C 27 35 35 40 40
D 25 25 25 25 25
E M12x0.75 M14x1.0 M14x1.0 M16x1.0 M16x1.0
K 3.3 4.3 4.3 4.3 4.3
KA 14 20 20 24 24
KB 22 22.5 22.5 28.5 28.5
KC 19 23.5 23.5 27.5 27.5
L 8.3 8.8 8.5 4.3 4.3
LA 30 38 38 50 50
LB 13 17 17 20 20
LC 14 13.5 13.5 15.5 15.5
P PT1/8 PT1/8 PT1/4 PT1/4 PT3/8
PA 16 18 21 22 24
PB 3 0 3 0 4
PC 21 23.5 22 29.5 28.5
PD 29 325 87245 40.5 40.5
Q PT1/8 PT1/8 PT1/8 PT1/4 PT1/4
QA 28 36 36 45 45
QB 2 0 0 0 0
QC 15 14.5 14.5 18 18
www.wodtop.com WOo1TOP 350




	3方向控制元件
	手拉阀 VPLA系列


